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N.B.: 1, Attempt any FIVE qucsums but not more than Tk :" EE questicns from gny section.
2. Answers to the two sections must be writlen in sepurate answer books and should be,
submitted separately. v
3. Figures to the right indicate full marks. Each questic: i1is of 15 miarks.
' 4, Uise of non-programmatle c-xlc.:ia::r iz allowsd in the Zxaminetion Hall
5. Use rand lom numbers provided in printed skeet only (zencrated horizontally).
Ao ;
b Section -1
i -2 .' i - i o
{ 7{ P Mcnlmn stcps involved in medeling a CQI"\"}l:tLrM“h bimuianon :,.udy? 8 ;
4 & > 3 [ R e SR w 3
s b. Mcnllon the 1mportam steps to simulate Lhc fu!lomub pmulcm on computcr u5m5 7 i

I p—agmn‘ or Excel eommands,
: A bread vendor bay" wcry moming loavc“ of‘ bread at Rs. 0.75/--cach by pl.xcm;,
N T his order on¢ day in advance (at the time of rcce'\-mg his previous order) and sell
them at Rs.1.70/- each of fresh bread and Rs.0.50/- each of one day old bread.
Unsold breed can be treated us of no va‘L s. The pattem of demand for bread is

given below: . : : S
FRESH BIEEAD !_ ONEZ DAY OLD BREAD
e Prubability bl e 1 Prooabilibes
S id_lcs —l of demand : Peisales. of demand
i 51 [ —oli@ | 0 0.70
i 52 0.16 : ! 0.20
e E S S §
| 53 | 0.27 1B 2+ i 008
| 54 | 0.32 3 u i
e =R .a....."ﬂ 09*@: f“’i"-aam.ﬁe;{:ss?ﬁ'ﬂﬂi o
: = SN NP T, 5, Y 2 e ‘_""'-""'r"- ‘-"‘V”*"--

The vcndor adnpts the folla“‘mg ordrr ruIe lf the'c is no stock w:th him at the eid
of the previous day, he ordess S units. O;hcm".ac the ord em 51 or 53 whiclicver is
nearest the aclue! fresh bn.uu suie on the pn.wuu:. day? Starting with zero stock

and a pending order for 52 loaves su'nulatc mr I{J da;s and calcul“tc the vcndur s
profits.

we

L 01{ L JIJI e A s vt
9% 2. a Whatarethe areas of appiication j:‘)fsimu'llat.ion?‘ _ ‘““' ot | ; kY
b, Explain aieng with the assumption to write ‘C’ Program to simulate on computer 7

the follgwing game between two players (called the game of matehing coins). Two

players simultancously flip a coin each. 1" both sides are same (Loth heads or both

tails) player A wins Rs 10/ from B, otherwise B wins Rs 10 from A..Each player

starts with Rs.100/- the game should be continued cither 10 times or before any

7 one of the broke. Wha is benefited i a simulated run of 102 ;
/ FE . " s o
= 3. a. Consider a grocery store with one check uut ‘counter, construct 1hc snap shot or § o e
otherwise the aigorithm for piving the performance measures i) average waiting
time, ii) |:rohnb:hty that a customer has to wait, iii) probability of idle scrver. iv)
average service time of simulated situation till the clock teaches to 30, us ing the
— intur arrival and scrvice tm...:. Lwcn below :n the order shown,
Ineraxrival limes 1,5, 6, 3, < —

Ceyvice fime 3. 5,4.1.5 s

\ IS b Exphinthe fesfies of mulfon g potkage-
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4, . Explain the prscedure hence or otherwise give the codc to apply chi squarc™
: check whether sequence of SO random aumbers given below ave uniforge. =
\ : z}@ distributed o7 act. Use 5% level of significance for the chi square tesit. Consider
| / class intervals namely (0, 0.20). (0.20, 0.40), (0.40, 0.60), (0.60. 0.80), (0.80. 1.64

041, 0.68, 089, 084, 074, 091, 055 ..., L0

0.09, 0.72, 0.86, 0.8 054, 002, 011, -029, Q.i6, -0.18. -

0.28, 091, 095, :0.69, 0.09, 038 023, 032, 091, 053,

; 031, 042, 073, 012, 074, 045, 0.13, 047, 0.58, 029,

i ' 0.2, .0.13., 029, 03¢, 038, 054, 0.8, 0.86, 0.88, .09]

e : s
b, Explain the pdaciple of geraration of randein variable with specific distribution} Jf b
through Inverse Transformaion technique. Generate 3 randem variate followiry| i §
triangular dist-ibution as given below.

; i e J x , 02xsl
| T wmwe o f= d Fx, 1<XE25 '
: _ e s o i 00 othermise EESE P

L 5 7 T til 1T
s

o, ¢ o Mk
el

_ . Stae the probability mass function of a himmiﬁi.x_'arintc. Under which situation it 4 i
i, s applieMSSGRBA o e T )
A production “process’ manufactures computer chips on the average at'2% nond |
conforming. Every day a random sample of size 50 is takzn from the process. Ifthg |} ¥
sample contzins more tha two nonconforming chips, the prozess will be stopped. &=

)

e i B

S ... i) Determine the probability that ihe process is stopped by the sampling scheme. 3
P S SR ii) If the samiple size is alicred 10 30 whether the prozess to stopping probability i1 F

! increase or decrgised = = s e T o BlLers ;’fE%
i % : ' PO SR,

}??/ b. Justify the need 0.'clibrat'en and validation in ﬁilmulawn 'r".od'c building. - |

OR/gugns" ™

—

7

of the cycle) policies i1 terms ciiect on expected average totol cost yields p.
.. month for 120 first months operation, where initial inventer; lave! is AV Forfir 3
policy (20, 40) aud second policy (0, £T; X,; denotes total average cost per.mon:
of poliey i on the i indeyendent replication. Using ¢ test, conclude whether polic
2 is supsios 1o potiny 1, Also obtain 90% confidence limit to say ; differs fro.

——r

6. a. For the inventory model two differeni M-maximum inventery level N - the leng ][* I
F

M2

3 e |

[ 4 i| Xy Xae. 4] o ¥
112657 | 118.15 | E
2112431 ] 12022 |
3112645 |122.24 . 4
2 [123.22 [120.89 Sty 5
5112723 | 188.95 | - i

Do you know any modific¢ approach to test when pair up observation of v! i
systems is not available? I8

b. Mention in details about any case study in the arca 6f computedized  simulation.
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! W b~ Explain the following services of CORBA.
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W.’-’ ‘Explain the relationship among the EJB server, container ar?fi_p‘can._

"

a.)

I

b.

. il s L
Enlist and explain the properties of data {hat favor centralizing objects. ﬂr_ti),;,g\ar

~ What is JNI? What are the situations when JNI can be used?

rules? Give the cen

CRA50
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Section 1l

What are the different activation models 16{}%{;
txplain in-process activation in detail, KRN
Expl p bolbe

Write and explaiu the varisus rules of IUnkiiown.

Write short notes on:
(i MTA and STA. %
-ﬁ%oﬁ_ (1) Cress apanment access.

Explain in detaii the COM Interface Definition Language

[im“"' COMN: objects into memory?

Explain the concept of Stubs and Skeletons in CORBA with the help of
aporopriate diagram.

How will you integrate a COM componeni in a Web application?

Explain the relation oetween Thread, Apartment, Process and Object in detail.

What are the three simple axioms associated with COM’s reference counting
ymon situations thet require calling the AddRef method.
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Tuble 1 Random Digits
[ 94737 08225 35614 24826  §B310 05505  S8i01 57685
87259 85982  132° L 74863 09986  6SSSE 06391
63856 . 14016 18527 11634 96908  S2146  $3496 51730
66612° 54714 46783 61934 30258  Gl674 07471 67586
30712 58582 05704 23172 86689 04834 99057 S5832
| 69607 24145 43886 86477 OS] ZEW3 33456 240
| 37792 27282 94107 41967 21425 04743 42822 28111
01488  SG68C 73847 64930 11108 44834 45390 86043
66248 97697 38244 50918 . 55441 S1217 54786 (04940
51453 03462 61157 65366 61130 26204 15016 85665
02168 82530 - 19271 86999 - -96499 12765 20926 25232
36463 07331  S459C 00546 03337 41583 46439  40i73
47097 78780 04210 87084 44484 75377 57753 41415
80400 45972 - 44111 99708 45935 03694 81421 60170
94554 13863 88239 . 91624 00022  4047L. 78462 96265
31567 53597 08490 73544 72573 30961 12282 97033
| 07821 24759 47266 21747 72496 77755 50391  $9554
| 09056 10709 69314 11449 40531 02917 95878 7457
19922 37025 80731 26179 16039  O1S18 82697 73227
| 29923 02570 80164 36108 73689 26342 35712 49137
| 29602 29464 w5219 20308 82169 03898 22072  £5139
94135 04861 87724  BRIRT  §2191 70607 63099 40404
87026 34092 34334 55064 43152 01616 03126 312
| 85039 19212 59160 83537  S4d14 19856 90527 21756
| 66070 38480 74636 45095  B6S76 79337 39578 40351
| 78166 82521 79261 12570 10930 47564 77869 16480
| 94672 Q7912 26153 (10331 12715 63142 88937 9466
S6406 70023 27734 . 22254 27685 67518 63965 33203
| 67726 57805 | 94264 7009 08682 18784 1755¢ 59369
07516 45979 76735 46508 17654 67177 92600  $5572
43070 22671 00152 81326 89428 16368 - 57639 79424
36917 60370 | 80812 87225 (2850 - 47118 23790  S5SC43
03919~ 82922 (02312 31105 44335  0SS73 17470 25600
L 40724 22558 64303 78304 05762 70650 S6117 05707
. 16108 41781 86823 20286 14025 24909 35391 12183
i 74541 75808 59669 » B8765¢ 72758 . 60851 552902 G366
| 82919 31285 01850 © 72550 42986  SISI8 01159 01786
' JI3RR 268G 77258 99360 92362 21979 41319 75139
L 90 75522 15687 07161 99145 48767 031 20846
| 00466  BBOSS 6831 RT45 97810  35ERE
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39119
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093%0
38457
35360
13676
31177
60905
13160
13482
L3343
20069
59578
64783
33503
43972
31388
70803
66320
17245
57604
75117
21080
X35
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